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Question Number : 1 Question Id : 5171449437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning style” refer to in education?
AH Dowogoi) egrgddd OBMTHD

Options:

The innate ability to acquire knowledge.
@;@Qi‘éé} FaTees ﬁu@ggm

1. %
The cognitive capacity for critical thinking.
&‘é}éﬁ*mﬁ &S5 @fer %vé}géa’m
2. % &
The personal approach to learning and processing information.
©EIERENN, Jarardsn Bran ootk ettt é@éﬂj«:ﬁé:ﬂ
3.¢

The teaching methods used by educators.
803 % aeth s é%e‘_ﬂ}@a
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 2 Wrong Marks : 0

How can a positive learning environment enhance the learning process?
iﬁmé&é g areradnin, @gr (DIBahih Jéy ehBo S0508

Options :



By discouraging collaboration among students.
S}mﬂéﬂﬁg&} S0 SrerTeR)) AETEHBe

By providing limited access to resources.

5 % HHHOB 5B (HSIE0D ©oBoHE

By fostering motivation, engagement, and creativity.

(@883, DS, DETrEES DosrooHe
3.¢

By imposing strict rules and regulations.
BRI Vahdh Daodhdesh Hothe

Question Number : 3 Question Id : 5171449439 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 2 Wrong Marks : 0

What is a key principle of learner-centered methods?
wgfhodarR) Solfg)s B Sof e

Options:

Passive role of students in learning.
. SRS Dorgiie apaires)E oS

Teacher's responsibility to memorize all content.

. 0o FEEodHn HBODEEE® HEHR args
2.



Focus on adapting to individual student needs.
Tl Vape ©HITONDNH00D) Ha

3. ¢

Strict adherence to a standardized curriculum.
[ErSrdE arorgodEintd EBSorr Etnal soth
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What does SWAYAM stand for?
oo @03 ?

Options:

1 % System for Web-based Assessment and Youth-oriented Monitoring

Study Webs of Active Youth for Advanced Learning Management

v Study Webs of Active-Learning for Young Aspiring Minds

Sustainable Web-based Academic Yearly Assessment and Management
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary purpose of a Learning Management System (LMS)?

afressirddy ;’i:’g?} 36{:%%3&.}636 ANE:V ﬁé%%ﬁj&b 7

Options :

To manage financial transactions for educational institutions
_— ST ﬁo*’%}}e_}.’é} @gé Sgsdeiroren JEerothés

To facilitate communication between students. parents and teachers

5 % E}mﬁgd]m@ &8 &o(then, Ecﬁvmﬂédﬁm@ S0gig arden hegfo Bc50e

To create and deliver online courses, manage content, and track student

progress
©O80 Eﬁtﬁa;ja}eéj, $a0d DD, aroegoddn DEeroh, oo HEKa9
H0B0ohed
3. . —
To replace traditional textbooks with digital resources
FeoHrcHE SeBpHNESseR Edben SHHoS® 36 Johne
4, %

Question Number : 6 Question Id : 5171449442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which type of research aims to explore new theories and ideas to generate
hypotheses?
DBEedef 66 Vb o H68°s a’gcgéam,gf’é ?bm;oéainméa esbSdoh

@ﬂiﬁmzﬁmé P CDERD.

Options :

1. %



Descriptive research
égmééé ot ity

Exploratory research
@55ﬁmﬁé&§ 568855

Experimental research
{fﬁﬂmﬁr’ﬁ&é $508%5%

CQluantitative research
;flag]}‘:‘ﬂ'&'l'“é[&é éﬂéﬁcﬁé
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Positivism in research emphasizes:
568G §rei)E BAD esosHdy

Options :

Subjective interpretation and personal beliefs
oE(Eagdhd HDdm, ENS Jaysten

1. %

The importance of intuition and gut feelings

- ©0868)8), @olEsne Do (RS



The use of rigorous scientific methods to uncover objective truths

DB Vered) 308 Eaiwrd® EB5DHD QoD HPHe BHERKED
3. %

The rejection of empirical evidence in favor of abstract theories
SSoeg cEC-C};DEjO wingroonr, @igrds 'ﬁv%&& QDoeEBochés
4, #
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0
What is the first step in the research process?
58885 [gﬁ[_%@ﬁatﬁﬁ S0t @Hih 8

Options :

Data analysis

. Saeod BN
1.

Writing the research report
H568°5% BEFY (Erakn

Formulating research questions or hypotheses
568555 Do, HdBKeH S| B%80:56

Conducting a literature review
(o ﬁg‘ué Dsne
4. %
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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The appendices section of a thesis includes:
2.& HOEES g edogre Dertiodt ond sothd

Options :

The acknowledgments and dedication pages
8D, @oBSoiahn nden

A list of all the tables and figures in the thesis
?’\:ngoeté aoéﬁa’mﬂéﬁ é@éﬂ, ®08e) &oi)ar

Extra information, such as data tables, survey forms, or supplementary
materials

Herod ﬁ@m, éﬁrﬁé groren, ol ®oFen Hod) ofl Sdrortan

A detailed description of the research methodology
588855 583 D DDBes
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Correct Marks : 2 Wrong Marks : 0

How does ICT impact research dissemination?
ICT $588°5a o) 2 QtnHod (Hegrdo Lrshod

Options :



It limits research dissemination to local audiences only
508 a5ad SIS (58808 HBEo THod

It enhances research dissemination through online platforms, social
media, and open-access journals
©BS8S JbBen, FHrEY HrgiEvas, [Hadin 85D &X) J|B8en woe

568550 a5 arheod
2. ¥

It replaces the need for written research reports
HB8°ES s B wBioeR) 8 Bod

3. %
It discourages researchers from sharing their findings with others
$588°5%en weEm EiP)B adhobH ©obosod® e HHinod
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Note: Answer the questions 11-15 by reading the following passage:
HaE: 1808 @ £2360) AP0 SO0 Q. 11 aD0G Q. 15 [234) ©8) ASrTraren

|°0006.

The investigation of the geology of all the places visited was far more important, as
reasoning here comes into play. On first examining a new district nothing can appear
more hopeless than the chaos of rocks; but by recording the stratification and nature of
the rocks and fossils at many points, always reasoning and predicting what will be
found elsewhere, light soon begins to dawn on the district, and the structure of the
whole becomes more or less intelligible. | had brought with me the first volume of
Lyell's ‘Principles of Geology,” which | studied attentively; and the book was of the
highest service to me in many ways. The very first place which | examined, namely St.
Jago in the Cape de Verde islands, showed me clearly the wonderful superiority of
Lyell's manner of treating geology, compared with that of any other author, whose works

| had with me or ever afterwards read.
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Sub questions
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The author is interested in the study of
B5owed oixchdon odf BDA Gab.

Options :

Environment
étﬁ;géff}sao

rocks and fossils
feen 00 Seweren

nature
258

minerals
BeleIeen)
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On his first investigation, he finds the rocks very

ESows B°F (groso HosBjodsd o) 1800 Sraed.
Options :
disorderly

pwd s 5
v @ﬁé@ﬂcm &y 0]

disturbing
B8 2E



welcoming

e BoS
3. i@ ol
inhospitable
_ e3tiBodR)
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Question Number : 13 Question Id : 5171449450 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 2 Wrong Marks : 0

The phrase- ‘light soon begins to dawn’ means
‘e‘.ﬁ&ﬁﬁtﬁﬂ JentH (D608 ®@08

Options :

day-breaks
Beaieod

Sun shines brightly
Jengtd seddodorr Hse 8

clarity emerges about the situation
2008 2 ad SHob

daylight begins
, 2N Sentd [ePBodisnay) o

Question Number : 14 Question Id : 5171449451 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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The author finds the book, ‘Principles of Geology’ as most
BSowd FREE B Grj@een DB @0 B HBRHR.

Options :

exemplary
Elatel(Lvlen Y

imperfect
©0FPBHD

mediocre
etz v

inferior
RSB
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Mr. Lyell is an/ a
SHH6 OAHS 2.8

Options :



Geophysicist

ﬁﬁy%ﬂhﬁg
1. % P
Author
> % BeSomes

Geologist and author
3 ¥ e-;i,méjwmaﬁ a&@éé s0Bdsn Bdomne

explorer
4 % @3‘@&@
Sub-Section Number : 3
Sub-Section Id : 517144387
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A communication prevents misunderstandings and helps in
establishing a constructive relationship.
§Eﬁ].‘}§§)é§:,5 @}é)vtg@éj Qw808 Hbain R}Uuéaamééé Slesalelng)]
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Options :
positive
RN

1.+



passive
R(apad

reflective

&3S w558 &raS
3. %

retentive

oedes 48 He
4. %

Question Number : 17 Question Id : 5171449454 Question Type : MCQ Option Shuffling : No Is
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Being in communication helps in establishing credibility as a
professional
BrRiss Edmd8nss? e &0te0 58 &ﬁgﬁ}ﬁ)ﬁﬁaé@ 5{;3)0{560&5’5

FSES ey s ln3ls 3eln)
Options :

reserved
abSgray

confident
é&f)}éé o)

soft spoken
{)}Ej,iﬁnwﬁq



indifferent
abhie
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Correct Marks : 2 Wrong Marks : 0

Classroom communication is effective only if the teacher is
GarEEgained SEK8 K6 éa")]]é@éﬁg D#ddosorr sotnod

Options :

emphatic
5“%&,&’)9&5%@

empathetic

FeHB e s eownas
2. ¥

gentle
%‘}5’3335&3 o
3.
loud
KB DS
4, % "o
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Usage of can be avoided in inter cultural communication to steer
clear of misunderstanding and ambiguity
©088 [Sop8 Hogriedt, B erEssHe Hob @c?mgo B0ty @S0

DarBoNasRD.
Options :

translation
@070

non -verbal communication
Eﬁ%’c@é R OEPSIEs

accent
A

jargon
DBgeD
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One of the important forms of traditional media is

Po[RERad HrgsEvo Ging) Hngghd Srarerdd 2. 58

Options:

Theatre and drama

|, Bolineo snbdin o
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Newspapers
SPTR)(SBEen

MNovels
3 % QDO

journals

4% H(B8en
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6, 8,19,61,249,
Options :
1249

1. %

, % 1261

3 ¢ 1251

4 % 1256

Question Number : 22 Question Id : 5171449459 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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ABFL, BDLX, CFRJ, DHXYV,
Options :

EICH

1. %

EJDI

o EJDH

FICH
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In a certain code language if the word SOLUTIONS is coded as SNOITULOS,

then the word ANSWER coded in that language is

2.8 D0 §5 272 SOLUTIONS &7 3¢50 SNOITULOSTF 86 T0H068, & 276>
ANSWER §'& Sohatcd 980

Options:

. RENSWA

, » RENSAW



REASWN
3. #®

4V REWSNA
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The cost of 3 pens and 21 pencils equal to the cost of 5 pens and 7 pencils. The

ratio of the cost of a pencilto thatofapenis

0000 BAW 21 DRID) GG 5 0N €0 DO 7 DRID ) OOE MAFNO.

0O A DHOAW D) OO A ed

Options :

4.« 17
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Correct Marks : 2 Wrong Marks : 0
An A.C. is purchased for Rs. 55,000 and sold it for Rs. 44,000. The loss

percentage is__
2,8 DA &, 55,000 §R) SO0 T E5°. 44,000 €920 TR IR0 FTHO
Options :

15%

25%

20%
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Statements:

Some gold are silver.
Some silver are bronze.
Mo bronze is iron.
PSLTATNBYS
§0ed 20md0 0.

5 Ha3eren 5°0o050.
070 @0T) @D 5°¢0.

Conclusion:

I Some bronze are gold.

Il Some iron being bronze is possibility.

1. Some iron being gold as well as silver is a possibility.

ST Re:

L §Q)) sroarreen 20rH0.

II. 5065 Qe OO S0R 995740 G0,
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Options :

I and I follow
I s000 I 293000

T follows
I e9:50a0050e0

I and T follow
I s0G0 OI &900m00T00

I follows
I 20O 0T
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In a class of 80 students 30 students like tea, 35 students like milk and 25
students like coffee. It is also known that 15 students like both tea and milk, 17
students like both milk and coffee and 14 students like both tea and coffee, 9
students like tea, coffee as well as milk. The total number of students who like
neither tea nor coffee nor milk?

80 0B DTsen) TR, 30 06 e ¢3, 35 206 Few, 25 oA
SR BRIGESD. 15 0O doredden 63, e, 17 208 doesden Frew, Shew,
14 508 Doesden 63, shen, 9 008 drTshen 6 50, Sren &) . ¢,
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Options :

1« 27

3 % 10

4. %
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How is my father's father's only daughter-in-law’'s brother related to me?
AT YT ) 10 2.5 eTE), O e8:500338 7050 020850 abe3?

Options :

Father
®

> w Paternal Uncle



3 ¥ Maternal Uncle

4 % Cousin
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The distinction between Savikalpaka (determinate) and Nirvikalpaka
(indeterminate) is made with respect to which of the following pramanas?
JsrE (ABAird)Eo) Bain ABEenE fé'\}ggé_) gl gm0 &8 (Bob

TBE O 558 Bohadod

Options :

Anumana (inference)
1 % @iare (modaer)

Pratyaksa (perception)

558 (08reaed)

Arthapatti (postulation)
o858 (BEDS)

Upamana (comparison)
G0drd (590%)
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Consider the following statements and choose the right option

BI0% YSDoSed H6KHEE"S B:nE%08 Hban IBK @S J0HS ol

(a) Middle term should be distributed in atleast one premise
Ho555°0soR) 800 28 [Hi5haHos’ Hodd Foird.

(b) Middle term should be present in the conclusion
SmA0HE gy Do &owed.

(c) Both premises can be particular in a valid argument
Beparen oy FE8S° Both ([Habairen W erslelg - Telat N

(d) Both premises can be negative in a valid argument
Denerén @o"foé 5560 Botd (Hahoiren (Ha%roomr olelatatnnl
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Note: Answer the questions Q. 31 o Q. 35 on the basis of the information given below.
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The line graphs give the sales and expenditure of a company across five years.

starting from 2010. The value of both sales and expenditure for the year 2010 is

indexed to 100. It is known that the profitin 2012 was Rs. 1 cr.
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In at least how many years did the company make a profit?
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D H0X B80S @8 853 0 SDI0E ?
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| % 2010

2012

2014

Can not be determined
QGOS0 ardd o 520
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In which year the percentage income in sales is highest?

b gt 7o o6 ZE 3 d X s
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1.« 2011

2012

2014
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If the sales of the company in 2010 was Rs. 250 cr. Then what was the profit in
2013
&
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| % 86Cr
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What was the approximate percentage decrease in profit in 2012, when

compared to 20117
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What is the full form of 'GIF' ?
'GIF' {8 arsoabéd ?
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Global Internet Format

“ Global Interface Format

Graphics Interchange Format

Graphical Interface Format
4, =
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What is the primary function of an IP address?
IP Dharse e 06 db ?

Options :

To identify a device on a network
| o OS5 &8 HOEo rhBoibe



To store WebPages
35 Do PH Do
2. % i

To process email messages

3 % BEDOVED TPBORD 20D

To encode video content
4 % DB DHAITY) ISWH Daswe
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Options :

30 DTH channels
30 &&3rS mﬂ@

40 DTH channels
P 40 &&32rD anvé;g

60 DTH channels
, 80 E&TrD cﬁﬂﬁ(@

80 DTH channels

80 &3S anﬂéag
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Which of the following ICT initiatives of MHRD deals with E-governance for institutions
[ Universities?
0. 270.090.6 @Bo¥) & B avd P oo DE dugocire
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Options :

SWAYAM

1. %

. SAMARTH

3 » VIDWAN

IRINS
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What does the term "Wi-Fi" stand for?
'B2" eidre I ?

Options :

Wide Frequency

& —
1w 26 @S



VWireless Function

, x 2685 o5

Wireless Fidelity
3685 HE0S

Wide Functionality

4% 36 Hogr0d
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In which year was the United Nations Commission on Sustainable Development
(CSD) started by the UN General Assembly?
@Oéﬁ[gé@ﬁ] Frde ©08) &% Bod H05&)80& QBB fdn @oéocgéoﬁ)
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Options :

| o 1992

, s« 1993

5 % 1994

1995
%
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Which of the following is not a negative impact of urbanization on the
environment?
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Options :

Deforestation
&8 &ﬁ?&ﬁ}é

Pollution
513@:::{}50

VWaste recycling
sgre 5o

Loss of biodiversity
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Which of the following gas is more in percentage in the air?
mhHed )85 Fosod 63)) A0y 2080 ?

Options:

1.



Oxygen Gas
e98yezdo

Nitrogen Gas

S e
2. %

VWater Vapour

3 % N8 =96

Carbon Dioxide Gas
ﬁ’ﬁg SENFD A0
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Why biogas is considered a ‘'good’ source of energy?
a@rTod el Hodds SSHhmr Jdothded HBNETH

Options :

as it produces ashes
08 ardtd 683 35708

as it produces methane

, x ©0 DI 653 Txnod

as it burns without releasing smoke
©b &K BHowe otHEHod



as it decomposes in the absence of oxygen
sdzS 58 4ok Sfdod
4. %

Question Number : 45 Question Id : 5171449483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is objective of the Paris Agreement/Accord?
00 atonlE/ D58 ang) oFgEm

Options :

Decrease Global Warming below 2 degrees Celsius
1235305 ﬁéé}é&}?ﬁ} 2 &lfio DEHHD HIHHSH ShoHe

Decrease Global Warming below 3 degrees Celsius
Do SeEp 3 Glhe DSHEDD BIDHDH Shoes

Decrease Global Warming below 1.5 degree Celsius
20 ééé}é&}@ 1.5 Blfieo DoHchh HIHDHdH eﬁﬁotﬁm

Decrease Global Warming below 1 degree Celsius
$550%8 gt 1 &lfe DSHEHD BIDSDH Shodé
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Under whom, Nalanda was greatly ransacked by the army of Mamluk dynastic of
Delhi Sultanat?
&8 Ders @ng) Srdel S8 o 58 HBarORE® Soomr JEHP

oirentob.

Options :

. Chandragupt Maurya

Aurang jeb

3 ¥ Bakhtiyar Khiliji

Allaudin Khiliji
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The main governing body at the tertiary level of education in India is....
zobair dagBort éej@dﬁ} ﬁ;méﬁ g B o“’:ro;’m:

Options:

NCERT

, » CBSE

AICTE



UGcC

Question Number : 48 Question Id : 5171449486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of conventional learning programme in India?
& 6193 6 OB mobairE” FoRrehE wgrlE amrirdn

Options :
Yoga
1% ai
Fine Arts
e B¥en
2. #®
Agriculture
o T
3 ¢ Sgdarchan

Fashion Designing
RS ErH8ed
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One among is not a Core Critical Thinking Skills
aothed 2. ¥ 08)g Lol et Jedeagiin 5oth

Options :

Interpretation
DG

Analysis
D3es

Self-regulation
f&é{:‘ﬁj fcho|gbes

Self esteem
«?_aéé faldstle

Question Number : 50 Question Id : 5171449488 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level is.....
S8 &mﬁgﬁgméﬁ &85 GBng) Hngy ©F;En

Options:

To prepare students to pass examination
Samugifg@c‘(:o ééé@ﬁ ﬁ@;eﬁnﬁmmmé SSSrthdcing

To develop the capacity to take decisions

ABcHo HHT $8D 50 Dc%ned
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To give new information
8¢ Samardo s

®
To motivate students to ask questions during lecture
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Trans and cis configurations of peptide bonds involve one of the following
amino acids

Options :

. Glutamic acid

Hydroxyproline

Phenylalanine

Proline
W
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The structure of globular proteins depends on a combination of interactions.
Find out the correct combination.
. lon pairs can form in the hydrophobic interiors of globular proteins
i.  Denaturing agents cannot unfold globular proteins
lii.  Hydrophobic effect cannot drive globular protein folding
Iv.  Protein folding is not spontaneous
v.  Protein folding is not a sequential process
vi.  Hydrogen bonds cannot stabilize globular proteins
vii.  lon pairs cannot form in the hydrophobic interior of globular proteins
viii. - Hydrogen bonds stabilize globular proteins

Options :



Il and VV

[l and IV
2. %

| and VI
3.
, = llland VI
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The function of fatty acids in the body is to generate energy. The enzymes
responsible for oxidation of fatty acids are located in the

Options :

Cytoplasm

Endoplasmic reticulum

Mitochondrial matrix

Nuclear membrane



Question Number : 54 Question Id : 5171449492 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Entropies are additive.

Reason (R): Because the entropy change for a process depends only on the
initial and final states of the system and is independent of the pathway by
which the change in state is brought about.

Options :

Both A and R are true but R is not the correct explanation of the A

Both A and R are true but R is the correct explanation of the A

A is true but R is false

A is false but R is true

Question Number : 55 Question Id : 5171449493 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Match the following:

Column -1

Column -I

Protein complex of the respiratory
electron transport chain

Number of subunits present

| | Cytochrome C oxidase 1 4
Il | Ubiguinone-cytochrome C reductase |2 16 - 25
lIl | NADH-ubiquinone reductase 3 8
IV | Succinate-ubiquinone reductase - 7

Options:

-4, 11-3, 1I-2, V-1
1.+

-1, 1-3, V-4, lll-2
2. %

-3, -2, 11, 1vV-4
3. %

-2, 1-3, 1li-4, V-1
4. ®
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When the enzyme concentration is expressed in terms of moles of active sites
per litre (the molar concentration of enzyme times the number of catalytic

sites per enzyme molecule), the first-order rate constant (K.) is called as:

Options :

First order reaction




Turnover number
2.9

Zero order reaction

Second order reaction
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Match the following:

Column - | Column - |l
| | Peptide bond 1 | Common structural motif in many proteins
Il | a-Helix 2 | Polypeptide chains are almost completely
extended
Il | B-Pleated sheet 3 | Can assume only a restricted number of
conformations
IV | Peptide chain 4 | Resonance-stabilized, polar and planar
Options :
|-4 -1 -2 1v-3
1.4
-1 -3 1-4 1v-2
2. %
-3 -2 m-1  1v-4



-4 -2  1-3 V-1
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Adjacent nucleotides in each DNA chain are rotated by ---------e- relative to
each other.

Hence, the double helix completes one full turn approximately every =----e-s----
base pairs

Options :

29.6° and 9.4

28.6°and 8.4

30.6°and 11.4

34.6°and 10.4
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Assertion (A): The first pyrimidine nucleotide is formed by displacement of the

pyrophosphate group of PRPP by N-1 of orotate to yield orotidine 5'-

monophosphate in a reaction catalysed by orotatephosphoribosyltransferase.
Reason (B): But hydrolysis of the pyrophosphate released in this reaction
cannot drive the formation of the N-glycosidic bond between C-1' of the sugar
and N-1 of orotate.

Options :

Both A and R are true but R is not the correct explanation of the A

Both A and R are true but R is the correct explanation of the A

2. %

A is false but R is true
3. ®

A is true but R is false
4. ¥
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Na“ voltage gated channels are ----------- in resting neurons
Options :

Closed



Open

- Partially open

Partially closed
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Spectrinis a - consisting of -------aenv-- and -------------- chains

Options :

Hexamer, 3d, 3p

1. %
Dimer, 1a, 1B
2. %
3 ¢ Tetramer, 2a, 2B
Decamer, 5a, 5B
4. ®
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Photosynthesis is essentially --- reaction.

Options :

Oxidative

Reductive
2.

Aromatic

Linear
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Cytoplasmic ========mm-u-- helps to position the Golgi apparatus.
Options:
Kinesin

1. %

Caesin



Lysin

Dynein
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Aspirin inhibits the synthesis of ------saeeuu- and reduces the inflammation.

Options :

Prostacyclins

)
- Prostaglandins
Thromboxanes
3_ W
Leukotrienes
4, %
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Assertion (A): During protein synthesis, ribosomes form polysomes.
Reason (R): Different ribosomes of a polysome utilize a single strand of
mRNA.

Options :

Both A and R are true and R is the correct explanation of A
1.+

Both A and R are true but R is not the correct explanation of A

2_ W

A is true but R is false
3. ®

A is false and R is true
4, %
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Match the corresponding disease and cell organelle

Column -1 Column - I
Disease Cell Organelle
| | Leder's hereditary optic neuropathy 1 | Mitochondria
Il | Treacher-Collins syndrome 2 | Golgi body
Il | Pompe disease 3 | Lysosomes
IV | I-Cell disease 4 | Ribosomes

Options :

-1, 14, 1I-2, V-3

1. %



-3, -2, -1, 1V-4

2. %

3 @ -1, H-4, -3, V-2
-4, 11, 1lI-3, V-2

4. %
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Select the two correct statements below about lac operon.

|. Glucose or galactose may bind with the repressor and inactivate it

. In the absence of lactose the repressor binds with the operator region
Ill. The z-gene codes for permease

I\ This was elucidated by Francois Jacob and Jacque Monod

The correct statements are

Options :

| and I
1. %

Il and [
2. %

Il and IV
3.¢



| and Il
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Match the following functional homology of prokaryotic and eukaryotic
translation factors

Column - | Column - I
Prokaryotic translation factor | Eukaryotic translation factor
| | IF-1 1 |elFA
Il | EF-Tu 2 |eEF1a
Il | EF-Ts 3 | eEF1p
IV | EF-G 4 |eEF2
Options :
-1, -2, -3, V-4
1.4
-3,  1-2, -1, V-4
2. #®
-3, 1-4, -1, V-2
3. %

-2, 14, 1i-1, V-3
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The sequence of events mentioned below is symbolized by alphabets.
Choose the correct answer where the alphabets are matching with the

processes.
RNA —(A)—> DNA —(B)—> DNA —(C)—> mRNA —(D)—> Polypeptide

Options :

A-Reverse transcription, B-Replication, C-Transcription,
D-Translation

A- |-Replication, B-Transformation, C-Transcription,
D-Translation

2. %

A-Reverse transcription, B-Translation, C- Transcription,

D- Replication
3. #®

A-Replication, B-Transcription, C-Translation, D-Transduction
4. ®
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Assertion (A): Transcription and translation are spatial and temporal in
eukaryotes.

Reason (R): mRNA is transferred from the nucleus into the cytoplasm where
ribosomes and amino acids are available for protein synthesis.

Options :

Both A and R are true and the R is the correct explanation of the A
1.¢

Both A and R are true but the R is not the correct explanation of the A

2. %

A is true but R is false
3. #

A is false and R is true
4, %
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Find out the correct sequence in which the segmentation genes act.
Options:

Segment polarity genes—» Gap genes —» Pair-rule genes
1. %

Gap genes — Pair-rule genes — Segment-polarity genes
2.«



Segment polarity genes—s» Pair-rule genes—» Gap genes

Gap genes—» Segment polarity genes—  Pair-rule genes
4, %
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Which one of the following statements is correct about the homeobox?

Options :

It is a part of promoter in eukaryotic genes that code for proteins
involved in segmentation

It is a conserved protein structure found in glycolytic pathway
enzymes

It is a conserved DNA sequence found in genes that code for proteins
that regulate development

It is a conserved protein structure found in t-RNA-binding proteins
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Enzymes that can acetylate lysine residues in protein are called as ==--=--===---
When these enzymes target lysines in non-histones, they are known as -------

Options :

Histone acetyl transferase and lysine acetyl transferase
1.¢

Histone methyl transferase and lysine acetyl transferase

Nonhistone acetyl transferase and lysine acetyl transferase

Nonhistone methyl transferase and lysine acetyl transferase
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Identify the false statement below for histone modifications

S. No. | Histone | Site | Modification Function

I H3 K-4 | Methylation | Transcription activation
Il H3 K-9 | Methylation | Chromatin condensation
1 H4 R-3 | Methylation | Telomeric assembly

IV H4 K-16 | Acetylation | Nucleosome assembly




Options :
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The form of intercellular signaling that is mediated by the hormones is

Options :

Synaptic signaling

1. #

Paracrine signaling
2. %

Endocrine signaling
3.¢



Contact-dependent signaling
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Which one of the following plasma membrane receptors activate signaling
pathways by dimerization and autophosphorylation?

Options :

Steroid hormone receptors

1. %

Insulin growth factor receptor
2. ¥
3 % Ligand gated ion channels
. G-Protein coupled receptors
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Match column | and column Il and choose the appropriate options

Column - 1|

Column -l

Hedge-Hog signaling

Beta-Catenin

Notch signaling

Phospholipase C

Blor|po|=

IIl | GPCR signaling Ci protein
IV | Wnt signaling Delta
Options :
-4, -1, 1I-2, V-3
1. %
-1, -3, 14, Iv-2
2. %
-2, -4, 1I-3, V-1
3., %
-2, -4, 1-2, V-1
4.
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Consider the following statements and chose the appropriate answer:
|. Ligand-gated ion channels lead to changes in sodium and calcium
concentrations in cells.

l. GTP-activating proteins inactivate monomeric GTPase while GEFs inactive

them.

Options :

Both | and Il are true

1.4




| is true and |l is false

| is false and |l is true

Both | and Il are false
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Transcription of ethylene target genes by ethylene signaling pathway in
plants involves.

Options :

Active CTR1 that cause ubiquitinylation and destruction of EIN3

protein
1. %
Inactive CTR1 that cause ubiquitinylation and destruction of
EIN3 protein
2. ®
Active CTR1 that enables transcriptional activation by free EIN3
protein
3. %



Inactive CTR1 that enables transcriptional activation by free
EIN3 protein
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Arrange the correct series of steps involved in the activation of JAK-STAT
pathway.

l. Binding of cytokines to JAK receptors

Il. Cross-phosphorylation of tyrosine residues on JAK receptors

lll.  Docking and phosphorylation of STATs

IV.  Dissociation of STATs followed by dimerization

V. Activation of gene transcription by phosphorylated STAT dimmers

Options :

= =1lll=1IV-V
1.¢

=l =1=IV-=-V
2. %

=1 =1V =1l=-V
3. %

=1 =1V=1l-V
4. %
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The type of metamorphosis seen in the grasshopper is
Options:

Ametabolous

Hemimetabolous

2.

Holometabolous
3. %

Heterometabolous
4, %
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In plant embryogenesis, the large basal cell derived from the lower portion of
the zygote will divide and form a highly specialized, terminally differentiated
embryonic organ called

Options :

v The suspensor



The cotyledons
“

The shoot meristem

The hypocotyl
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Assertion (A): In frog metamorphosis, organ-specific response to thyroid
hormones is demonstrated by transplanting a tail tip to the trunk region or by
placing an eye cup in the tail. The tail tip placed in the trunk is not protected
from degeneration, but the eye retains its integrity despite the fact that it lies
within the degenerating tail.

Reason (R): Only specific tissues die when a signal is given. Programmed cell
deaths are important in molding the body.

Options:

Both A and R are true and R is the correct explanation of A
1.¢

Both A and R are true but R is NOT the correct explanation of A
2. %

A is true but R is false



A is false but R is true

Question Number : 84 Question Id : 5171449522 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
Assertion (A): The sum of growth and differentiation is known as
development.
Reason (R): Development in plants is under the control of extrinsic factors
only.
Options :

Both A and R are true and R is the correct explanation of A

1. #
Both A and R are true but R is NOT the correct explanation of A
2. %
A is true but R is false
3.
A is false but R is true
4, %
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The process of spermiogenesis is divided into stages in the order

Options :

Golgi phase — Cap/acrosome phase— Formation of tail—
Maturation phase — Spermiation

Spermiation — Golgi phase — Cap/acrosome phase —
Formation of tail — Maturation phase

2. %
Spermiation — Cap/acrosome phase — Golgi phase —
Formation of tail — maturation phase

3. %
Spermiation — Cap/acrosome phase — Formation of tail —
Golgi phase — maturation phase

4, ®
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Match the patterns of cleavage from Column | with Column I1.

Column | Column |I
|. Isolecithal, Radial 1. Fish, Reptiles, Birds
|l. Isolecithal, Rotational 2. Amphibians
[1l. Mesolecithal, Radial 3. Mammals, Nematodes
[\V. Meroblastic, Telolecithal, Discoidal | 4. Echinoderms

Options :

-2, 14, [1-1, V-3

1. %



-3, 1I-1, 1l-4, V-2

2. %

-1, H-2, 1-3, V-4
3 %

-4, 113, 1lI-2, V-1
4.
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The manganese stabilizing protein in photosystem Il is associated with the
following:

Options :

D1-D2 proteins and CP43-CP47 complex - All at acceptor side

D1 protein and chlorophyll — protein complex CP43 - All at donor
. Side
=

D2 protein and chlorophyll protein complex CP47 - All at
acceptor side

D1-D2 proteins and CP43-CP47 complex - All at donor side
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Match the following:
Column -1 Column - li
Conversion of metaholite from Conversion of metabolite to

| | 2-Phosphoglycolate 1 Glycerate
Il | Glyoxylate 2 | Glycolate
Il | Glycerate 3 | Glycine
IV | Hydroxypyruvate 4 | 3-Phosphoglycerate
Options :
-4, 11-3, 1I-1, V-2
1. %
-3, -2, -4, [IV-1
2. %
-2,  11-3, -4, V-1
3.«

-1, 14, -2, [V-3
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A'-Pyrroline 5-carboxylate (P5C) is converted by the enzyme A'-
Pyrroline 5-carboxylate reductase (P5CR) to

Options :

Proline

Glutamate

Arginine

Lysine
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Assertion (A): Asymmetric growth observed in various plant organs is under
the influence of definite stimuli, which results in tropistic curvatures.

Reason (R): Plant tropistic curvatures are caused by equal distribution of
growth hormones.

Options :

Both A and R are true but R is not the correct explanation of the A
1. %

Both A and R are true and R is the correct explanation of the A



A is true but R is false
3. ¢

A is false but R is true
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Arrange the following in proper sequence in the biosynthetic pathway.

|. Geranyl pyrophosphate is converted to farnesyl pyrophosphate

Il. Geranylgeranyl pyrophosphate is converted to copalyl pyrophosphate
lll. Mevalonic acid is converted to mevalonic acid pyrophosphate

I\/. Dimethylallyl pyrophosphate is converted to geranyl pyrophosphate

VI. Isopentenyl pyrophosphate is converted to dimethylallyl pyrophosphate

Options :
L, IV, 1, V, I
5 % Ui, 1L 1LV, IV
O NIVENL D
3.
LM IV LD

4. &
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Assertion (A) : When seedlings receive light, they do not lose most of their
type | phytochrome.

Reason (R): The seedlings upon receiving light, stop making more mRNA
needed to synthesize that phytochrome.

Options :

A is false, and R is true.
1.4

Ais true but R is false.

2. #®

Both A and R are true and R is not the correct explanation of the A
3. %

Both A and R are true and R is the correct explanation of the A
4. %
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Soluble products of photosynthesis formed in the photosynthetic tissue, enter
the sieve tubes through:

Options :



Facilitated diffusion

1. %

Passive diffusion
2. %

Passive transport
3. %

Active transport
4.
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Plants manage to grow in areas where high salt concentrations exist.
Succulent plants may dilute the intracellular salt as in the case of Salicornia
species. Other plants take up and maintain higher internal concentrations of
ions to maintain turgor as in the case of halophytes. Some glycophytes on the
other hand, manage to grow in saline conditions by the

Options :

Accumulation of Na™ and CI " in the cytosol and reduction of leaf

area
1. %

Internalization of Na™ ions at the tonoplast level and developing

5 ¥ salt glands in the |leaves



Accumulation of sugars, compatible organic solutes, coupled
with exclusion of toxic ions at the plasma membrane or
compartmentalization of toxic ions into vacuoles

Exclusion of Na” ions at the membrane level through salt overly
sensitive (SOS) pathway coupled with water storage hairs and
aerenchyma
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Terpenoid biosynthesis occurs through the following pathways:

Options :

Cytosolic MEP &plastidial MVVA pathways respectively

1. %
MEP pathway in cytosol only
2. %
Cytosolic MVA &plastidial MEP pathways respectively
3.¢
MVA pathway in plastids only
4, %
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Consider the following statements and choose the correct option:

|.  Nephridia and malphigian tubules convert ammonia to urea for water
conservation in invertebrates.

ll. Flame cells in certain invertebrates are responsible for excretion and
maintaining osmotic balance.

Options:

Only statement | is true

’|_ F

Both statements | and |l are true
2. ¥

Statement |l is true
3.

Both statements | and Il are false
4. %
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Which of the following mechanisms involve active transport?
Options :

1.9



Sodium - potassium pump during nerve conduction

Entry of glucose into cells by facilitate diffusion

2. %
. Diffusion by osmosis through semipermeable membrane
3. %
Nitric oxide exchange at the membrane
4. #
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Hamburger's phenomenon refers to

Options :

Entry and exit of sodium ions in RBC

1. %

Entry and exit of potassium ions in RBC
2. ®

Entry and exit of chloride ions in RBC
3. v



Entry and exit of glucose in RBEC
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Arrange the following steps of coagulation cascade in an ascending order.
|. Conversion of Factor VIl to Vlila followed by conversion of Factor X to Xa
ll. Release of Factor Il from damaged cells

lll. Conversion of prothrombin to thrombin followed by fibrin formation

I\/. Activation of Factor Xlla

Options :

IV, 1L 1L
1. #

1, 1, 1V, I
2.

I, 1V, 1, 1l
3. %

IV, L1
4. %
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Which of the following statements areTRUE.

|. During prolonged fasting, large amounts of amino acids from tissue
protein

ll. Breakdowns are released and to be converted to glucose in the liver by
gluconeogenesis

lll. The thyroid gland produces the hormones thyroxine but not calcitonin

IV. The hypothalamus is involved in heat regulation

The correct combinations are:

Options :

| and Il
1. %

| and Il
2. %

Il and Il
3.

I, Il and Il
4. ®
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Which one of the following combinations is NOT correct?

Options :



Cushing syndrome: Hyper secretion of cortisol

1. #
Cholecystokinin (CCK): Produced in the brain
2. ¢
Vitamin E: a-tocopherol
3. %
Leydig cells: Spermatogenesis
4. %
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Match the following organism with the type of sex determination found in them
Column -1 Column -l

| | ZW-Z2Z type 1 | Grasshopper
Il | Z0-ZZ 2 | Drosophila
[l | XX-XO 3 |Hen
IV | XX-XY 4 | Butterfly

Options :
-1, -4, 1lI-3, IV-2

1. #

1-3, -2, M1, V-4



-3,  1l-4, -1, V-2

-2, 14, [II-1, V-3
4, %
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Read the following paragraph and answer the question.

A new-born infant is noted to have microcephaly after birth. His mother is 38-
years old. She also has a 5-year-old son who is mentally retarded and she
had one previous second-trimester miscarriage. In addition, she has a genetic
disease that required a special diet, but she discontinued the diet many years
ago. On physical examination, the infant's weight and length are both below
the 10th percentile for his gestational age. He is also noted to have a grade |lI
systolic ejection murmur best heard at the lower left sternal border. Which one
of the following conditions, the mother is most likely to have?

Options :

Fragile X syndrome

Galactosemia

Hypothyroidism
¥



Phenylketonuria
4,
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Kearns-Sayre syndrome is caused due to mutation in
Options :

MNucleus

Mitochondria

2.
Chloroplast
3.
Peroxisome
4, #
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You are carrying out an ANOVA analysis. You have a mean square of 759.39,
2df, and an error term of 13.67. What would be the F value?

Options :

1 ¢ 24.23

31.34

37.97

48.46
4. %
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An early notion of heredity, which proposed that offspring are a mixture of
parental traits.

Options :

Blending inheritance
1.4

Germ-plasm theory



Pangenesis

Preformationism
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Haemophilia is a recessive x-linked trait in humans. If a heterozygous woman
has children with a normal man, what are the odds of the following
combinations of children?

|. An affected child 1.4

|l. Four unaffected children in a row 2. YaXYaX ¥aX %= 81/256

Il. Two out of five children that are affected 3. 26.3%

Options :

-2 -1 -3
1. %

-1 -2 1-3
2.

-3 -2 1l-1
3. %

-2 lI-3 -1
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An abnormal male child is born to normal parents. This child shows a short
neck, stubby hands, slanting eyes, permanently open mouth with projecting
upper lip and short stature. This abnormality can be attributed to

Options:

An extra Y chromosome

1. #
An extra X chromosome
2. %
An extra chromosome in the 21st pair of autosomes
3.«
Absence of X chromosome |eading to a total of 45 chromosomes
instead of the normal 46
4, ®
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An Rh-negative woman married to a heterozygous Rh-positive man has three
children. The probability that all three of their children are Rh-positive is?

Options:

122

1. %

1:4

1:8

0 (Zero)

Question Number : 110 Question Id : 5171449548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A plant of genotype AaBh is test crossed to aabb. If the two loci are 10 map
units apart what proportion of progeny will be AB/ab?

Options :
1 % 20%

o
> 45%



10%

5%
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The hierarchy of nested categories is known as =------ and =------- classification
scheme better explains, requirement for biodiversity investigation

Options :

Taxonomic hierarchy and folk classification

1. #
Linnaean hierarchy and biological classification
2. ¢
Organismal hierarchy and natural classification
3. %
Hierarchy of life and artificial classification
4. %
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Under Darwin’s hypothesis, evolution has two major features cladogenesis and ------
Classification dealing with characters of organisms that actually have in
nature is called as -~

Options :

Morphogenesis and phylogenetic classification

1. #

Genesis and artificial classification
2. %

Androgenesis and biological classification
3. %

Anagenesis and natural classification
4.+
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Advarks arg------------- and Ruderal habitat occurs in-------——--—-
Options:

Tubulidentata and village complex



Edentata and wetland

2. *

Hyracoidea and Island
3. %

Lagomorpha and grassland
4. %
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The most common Holocephali is ------ and Rhyncocephalians inhabit in --------
Options :

Ray fish and North America

Cat fish and India

Chimera and New Zealand

Sting Ray and Russia
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The cell organelle involved in the protection from molecular oxygen is
Options :

Lysosomes

Mitochondria

2. %

Peroxisomes
3.

Endoplasmic reticulum
4. %
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Match the following

Column -1 Column - II
| | Tropical wet evergreen forest | 1 Chhota Nagpur
Il | Subtropical pine forest 2 Nilgiri hills
Il | Tropical dry deciduous forest | 3 Kumaon hills
IV | Tropical thorn forest - Coimbatore
Options :
-2, 1-3, 1-1, V-4
1.4
-1, -3, -2, V-4
2. %
-4, 1I-1, lll-2, V-3
3. %
-3, 1-41 [llI-2, 1V-4
4, %
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Bandipur wild life sanctuary established in 1941 which has an area of 674
square kilometres. The sanctuary has animals like elephants, panther, barking
deer, leopard and sloth bear. The sanctuary is located in one of the following

states

Options :




Rajasthan

Tamil Nadu
2. =

Uttar Pradesh
3_ W

Karnataka
4. &
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In India, the concept of sacred groves originated
Options:

During medieval period

During stone age

During the time of pre-agrarian hunter-gathering period
3.¢¥



During British period
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Which country started Ramsar Convention?

Options :

India

Iran
2.9

Ireland
3. F

Turkey
4, ®
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Match the following
Column -1 Column =1l

| | Vertebrate faeces |a | Change the flowrate of water
Il | Coral reefs b | Alter the topography of any given area
Il | Beavers ¢ | Home for dung beetles

d

IV | Termite mounds

Alter hydrology of water bodies

Options :

I-b, Il-c,Ill- a,lV-d

I-a, lI-c.lli-b,IV-d

2. ®

I-c, lI-a,lli-d,IV-b
3. %

I- c, ll-a.lll-a,IV-d
4. %
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The type of association found between honey bee and entomophilous flower is
Options :

Mutualism
1.4



Co-evolution

2.«
Cooperation
3.
Commensalism
4. ®

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Invasive species
|. can outcompete native species
Il. can increase biodiversity
lll. are fast growing
IV produce allelopathic compounds
Identify the correct statement(s)

Options :

| and Il



. 1I, and IlI

. 1ll, and IV
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Assertion (A).Ecosystem produce are consumed by decomposers and
detritivores.
Reason (R): Energy does not flow in a cyclic fashion in an ecosystem.

Options :

Both A and R are true and R is the correct explanation of A

1. %

Both A and R are true but R is NOT the correct explanation of A
2. ¢

A is true but R is false
3. %

A is false but R is true
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Assertion (A). Saprophytes play a vital role in the ecosystem.
Reason (R): Saprophytes are accorded highest level in food web or food chain.

Options :

Both A and R are true and R is the correct explanation of A

1. #
Both A and R are true but R is NOT the correct explanation of A
2. %
Ais true but R is false
3.¢
A is false but R is true
4. %
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Primary succession in water takes place in the following order



Options :

Phytoplanktons (pioneers) — Rooted-submerged plants — Rooted
floating angiosperms — Free-floating plants — Reedswamp— Marsh-
meadow — Trees— Forests (climax)

1.4
Phytoplanktons (pioneers) — Rooted floating angiosperms — Rooted-
submerged plants — Free-floating plants — Reedswamp — Marsh-
meadow — Trees — Forests (climax)
2. %
Phytoplanktons (pioneers) — Free-floating plants — Rooted-submerged
Plants — Rooted floating angiosperms — Reedswamp — Marsh-
3 % meadow — Trees — Forests (climax)
Phytoplanktons (pioneers) — Rooted-submerged plants — Free-floating
plants — Rooted floating angiosperms — Reedswamp — Marsh-
4 meadow — Trees — Forests (climax)
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Identify the correct sequence of steps in the nitrogen cycle
Options:

Atmospheric nitrogen — Lightening — Rain wash — Assimilation —
o Nitrification — Ammonification — Denitrification



Atmospheric nitrogen — Lightening — Rain wash — Ammonification —
Assimilation — Nitrification — Denitrification

Atmospheric nitrogen — Lightening — Rain wash — Nifrification —

- Assimilation — Ammonification — Denitrification

Atmospheric nitrogen — Lightening — Rain wash — Denitrification —
Ammonification — Assimilation — Nitrification
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Changes in water temperature have a significant influence on coral species’
ability to construct interconnected reefs. Coral polyps are fed by photosynthetic
zooxanthellae, an algal member that inhabits the endodermis of the polyp. At
seawater temperatures below 18°C, zooxanthellae cannot thrive. Coral
bleaching results from zooxanthellae leaving coral tissue when water
temperatures rise (over 35 °C). According to Shelford’s Law of Tolerance, the
organism'’s wide environmental factor tolerance limits show:

Options :

Wide distribution with high population size

Narrow distribution with low population size



Wide distribution with low population size

Narrow distribution with high population size
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Which scientist proposed that "ontogeny recapitulates phylogeny” in his theory
of recapitulation?

Options :

S.L. Miller

Louis Pasteur

Charles Darwin

Ernst Haeckel
4.+
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In his experimental study, Miller successfully synthesized simple amino acid
from ---

Options :

Hydrogen, methane, ammonia, water vapour

1.4
Methane, ammonia, oxygen, nitrogen
2. #®
Ammonia, methane, carbon dioxide, oxygen
3, #
Hydrogen, water vapor, oxygen, helium
4, %
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The lack of oxygen on Earth has resulted in a diminishing atmosphere.
However, it subsequently underwent a transformation into an oxidizing entity as
a result of the emergence of -=--eeemeeeenems,



Options :

Angiosperms
1. #

Gymnosperms
2. %

Cyanobacteria
3.«

Eukaryotic algae
4. %
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Balancing selection is specifically pertaining with successful reproduction of
Options :

Homozygous individuals

Heterozygous recessives

Heterozygous individuals
3.



Azygous individuals

Question Number : 132 Question Id : 5171449570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Match the following:

Column -1 Column - ||
| | Darwin 1 Use and Disuse of organs
Il | Lamarck 2 Origin of Life
[l | Mendel 3 Natural Selection
IV | Oparin - Laws of Heredity
Options :

-3, 1I-1, lll-4, V-2

1.4

-1, 11-3, 11l-2, 1V-4
2. %

-1, 11-2, -3, V-4
3, #*

-4, 11-3, 11I-2, IV-1
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Assertion (A): The Hardy-Weinberg principle states that allele frequencies
within a population remain stable and constant across successive generations.

Reason (R): Evolution would be thought to have resulted from a disturbance in

Hardy-Weinberg equilibrium or genetic equilibrium.

Options :

Both A and R are true and the R is the correct explanation of the A

1. %
Both A and R are true but R is not the correct explanation of the A
2.
A is true but R is false.
3. %
A is false and R is frue.
4, %
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Which of the following statements regarding the prediction of the neutral theory
of molecular evolution is supported by evidence?

Options :

Human and Chimps differ more in DNA sequences in pseudogenes than

in functional genes
1.4

Human and Chimps differ more in DNA sequences in coding region of
functional genes than in pseudogenes

2. %
The rate of evolution of most DNA sequences is observed to be higher in
humans compared to chimpanzees.

3. %
Species that are more advanced possess a larger number of
functional genes.

4. %
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X-ray crystallography provides information about the -------e--m- of DNA but is
limited because -------------- of the DNA. The technique is based on the pattern
of ------------ of the atoms in the molecule.

Options:



Structure, difficulty of purification, light absorption

1. %
Dimensions, molecular weight, diffraction
2.+
Molecular weight, shape, diffraction
3. %
Dimensions, linearity, light absorption
4. %
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Match the following

Column | Column Il
. Klenow 1. DNA-dependent RNA polymerase
Il. T4 DNA pol 2. Lacks 5'to 3' exonuclease activity
l1l. T3 RNA pol 3. Used in second strand cDNA
synthesis
V. RNase H 4. DNA pol | lacks 5'to 3'
exonuclease activity
Options :
- 1 -2 m-3 1v-4
1. %



-3 -2 -1 1v-4

“
-4 -2 -1 I1v-3
3.¢
-2 14 11 V-3
4. %
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Match the following:

Column | Column Il
|. Restriction endonucleases 1. Kary Mullis
II. DNA finger printing 2. Kohler and Milstein

lll. Polymerase chain reaction
I\V. Monoclonal antibodies

Options :

-4 -3 -1 Iv-2
1.4

-4 -3 -2 Iv-1

3. Alec Jaffreys
4. Werner Arber



-2 -3 -1 1v-4

-4 -1 -2 1v-3
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The light source for the visible and UV part of the spectrophotometer is --------- --
and also ========-

. Tungsten filament bulb
|l. Neon bulb

1. Deuterium bulb

V. Helium bulb

Options:

| and Il

Il and IV

Il and I

IV and |
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The major cause of Genetic drift is

Options :

Mutations in large population

1. #
Bottle neck effect
2. %
Non-random mating
3. %
Change in allele frequency
4. v
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Corn is immersed in the boiling water. If it is cooled; then the solution becomes
sweet. What is it due to?

Options :

Inactivation of enzymes in the boiling water

1. %
Conversion of disaccharides to monosaccharides
2.
3 % Conversion of monosaccharides to disaccharides
Conversion of monosaccharides to polysaccharides
4, %
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. The cells isolated from an animal become senescent after a limited number of
divisions in culture, but the cell lines used in experimental cell biology are able to
proliferate indefinitely in culture. This is due to the fact that:

Options :

They are being continually given fresh supply of growth factor
1. %



They undergo mutations that abolish cell senescence
2.+

They undergo mutations that inactivate the genes involved in programmed
cell death

They remain undifferentiated
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The physical significance of specific growth rate constant is
Options:

Rate at which the organism is growing

1. %

Fraction per unit growth of microorganism per unit time
2. %

Grams of cell formed per grams cell mass per unit time
3.

Gram of cells formed per unit time
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The process of phytoremediation where complexation and immobilization of toxin
takes place within the soil is called as

Options :

Phytoextraction

1. #
Phytodegradation
2.9
Phytovolatilization
3. #
Phytostabilization
4. ®
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Activation-induced deaminase (AID) enzymes catalyzes the conversion of -----------
- in both class switch recombination and somatic hypermutation.

Options :

Cytosine to Uracil in the variable regions and switch regions of

1 ¢ immunoglobulin genes

. Adenine to Guanine in the variable regions and switch regions of

immunoglobulin genes
2. %

Cytosine to Uracil in only variable regions of immunoglobulin genes
3. %

Adenine to Guanine in only switch regions of immunoglobulin genes
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Assertion (A): The optimal recognition site is a single site that is sensitive to
commonly used restriction enzymes.

Reason (R): In pBR322, foreign DNA is ligated in close proximity of the Bam-HI site
of the tetracycline resistance gene.

Options :

Both Aand Rare true and Ris the correct explanation of the A.



Both Aand Rare true but Ris not the correct explanation of the A.
2.«

Ais true but Ris false.

Ais false, and Ris true.
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Assertion (A): T cells actively engage in the type IV hypersensitivity reaction.

Reason(R): Type |V hypersensitivity reactions are characterized by a cell-mediated
immune response.

Options:

Both Aand Rare true and Ris the correct explanation of the A.

1. %

Both Aand Rare true but Ris not the correct explanation of the A.
2.

Als true but Ris false.
3. %



Ais false, and Ris true.
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|dentify the correct match of the ion channel with affected gene and associated

disease
Column | Column ||
W 1. SCN4A gene, paramyotoniacongenita
Il. Na® 2. PKD1, polycystic kidney disease
1. Acetylcholine receptor 3. ABCC7 gene, cystic fibrosis
V. CI 4. CHRNA1 gene, congenital myasthenic
Syndrome
Options :
-1 1-2 v-3 1l-4
-1 -2 13 1v-4
2. %
-2 -1 -4 1v-3
3.¢

V-1 -2 11-3 14
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Volume of sample loaded on the microarray chips is --------- ?
Options :

Picolitre

Microlitre

MNanolitre

Femtolitre
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Mitochondria are pelleted if you centrifuge the liquid at:
Options :

10, 000 g for 10 minutes



20, 000 g for 10 minutes

20, 000 g for 20 minutes
3.«

20, 000 g for 30 minutes
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-------- generate a characteristic signature resonance when stimulated with an
alternating current?

Options:

Piezoelectric crystals
1.4

Fibre optic sensors

Biosensors

Transductions






